=6371.054xc0s75,6031°

2549=6371.054xc0566,3969°

e %’

Earth's Radius ER=6366.763 Km.

Square Size =552.377 mi = 1023.002 Km

alphaC = CentralLatitude = 71°

alphaN = CentralLatitude + delta = 71°+
4.6031°=75.6031°

alphaS = CentralLatitude - delta=71°-4.6031°=66,3969°

central meridian height=1023.002 Km. --->

2 x delta = 1023.002/6366.763 x 360%2*pi = 9.2062°

RN = ER x cos alphaN = 6366.763 x cos 75.6031° =
1583.016 Km.

RS =ER x cos alphaS = 6366.763 x cos 66.3969° =
2549.243 Km.

RM= ER x cos alphaM = 6366.763 x cos 71°=
2072.815 Km.

betaC= Central Longitude =-159°
betaCE=betaC+gammaC
betaCW=betaC-gammaC

2xgammaC = 1023.0022/RM x 360/2*pi = 1023.0022/
2072.815 x 360/2%pi =28.277°

betaNE=betaC+gammaN=-159°+ 18.513 =
-140,487°(W)
betaNW=betaC-gammaN = -159°-18.513°=
-177,513%(W)

2xgammaN = 1023.0022/RN x 360/2*pi =
1023.0022/1583.016x 360/2*pi =37.026°

betaSE=betaC+gammaS = -159° + 11.496°= -147.503°
W)

betaSW=betaC-gammas = -159°
-11.496°=-170.496°(W)

2xgammaS = 1023.0022/RS x 360/2*pi=
1023.0022/2549.243 x 360/2*pi =22.992°

NW Corner = betaNW/alfaN =-177.513° (W) /
75.6031° (N)

NE Comer = betaNE /alfaN = -140,487°(W) / 75.6031°
™

SW Corner = betaSW / alfaS = -170.496°(W) /
66,3969°

SE Corner = betaSE / alfaS=-147.503° (W) / 66,3969°

Quite correct, I think

-Closter- 2007




